JL_

Vertical Division

Name:

1)

4)

7)

10)

Solve each problem. Answers
2) 3)
1
50650 201800 901242
2.
3.
4,
5.
5) 6)
6.
201812 60|1333 801850
7.
8.
9.
10.
8) 9)
11.
80640 30952 501400
12.
11) 12)
50(180 101150 801640
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Vertical Division Name: Answer Key
Solve each problem. Answers
1) 13 2) 40 3) 2162 13
50[650 20[800 %0242 "
0 0 0 2. 40
65 80 24
50 80 0 3 _ 2162
150 00 242 . 40r12
150 0 180
0 0 62 5 5r33
4) 40r12 5) 5r33 6) 10r50 . 10r50
20[812 60(333 80(850 |
0 0 0 n__ 8
81 33 85
80 0 80 8. 31r22
12 333 50 . 3
0 300 0
12 33 50 0. 3r30
7) 8 8) 31r22 9) 8 . 15
80[640 30[952 50[400 |
0 0 0 12, 38
64 95 40
0 90 0
640 52 400
640 30 400
0 22 0
10) 3130 11) 15 12) 8
50[180 10[150 80[640
0 0 0
18 15 64
0 10 0
180 50 640
150 50 640
30 0 0
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Vertical Division

Name:

Solve each problem. Answers
10 r50 8 13
2162 8 40 r12 1
5r33 31r22 40
1) 2) 3) :
501650 201800 901242 3
4,
5.
6.
7.
8.
4) 5) 6)
201812 60333 80850 9.
7) 8) 9)
80640 30|952 501400
M odified 1-9 [89|78[67[56|44][33[22[11] 0 |
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